Compatible Trafimet

Model: A140 - A141 « P140

Gas: Single « Air Flow: 100 Litres Per Min « Rating: 140A @ 60% Duty Cycle - EN60974-7

Hand Torch Package

3

Code Description Main Consumables (continued)
PA101 Torch 6m Cables M14x1 Fittiﬂg R R Code Description Pack Qty
PA214 Torch 6m Cables Central Fitting MaéndConsueriab!e§ (continued) Pack 21 CV12  Double Pointed Spacer 1
PA102  Torch 12m Cables M14x1 Fitting 9 PBWBLH T‘_esjr%p""” ac Q% 22 (V14 Crown Spacer 1
PA219 Torch 12m Cables Central Fitting ED T\'p Wl4 0 23 (V13 Gouging Shield 1
Eﬁ}ggi gm PFC: gm Eag:es QAMXHEWQ PDI01-17 T\'g 17 10 24 C1010  Spacer for Contact Cutting - Hand
~141 lorch om Cables Central Ftting Ty Use with Iltems 9, 13 &26 1
PD101-19 Tip 1.9 10 —
Machine Torch Package PD101-30_Gouging Tip 3.0 10 25 C1012 Spacer 'hMaCh‘”e
PAIO3 Torch 6m Cables M14x1 Fitting 10 PD111 Extended T!p Max 50A 10 e o LLJ;;\;X:I I\\Ituetms 9,13&26 }
PA145 Torch 6m Cables Central Fitting 11 PD117-14 Extended T!p 14 10 5
PA104 Torch 12m Cables M14x1 Fitting POIIZL/. Extended Tip 1.7 10 Secondary Consumables
PA146  Torch 12m Cables Central Fitting PDIT7I9. Extended Tip 1.9 19 27 TP10_Handle c/w Switch - Hand Torch 1
12 PC101 Nozzle Retaining Cap 1 -
Main Consumables PC102 Nozzle Retaining Cap -Long Life 1 09706 LT14] Hand\g </ Switeh ]
Code  Description PackQty 13 PC103 Contact Nozzle Retaining Cap 1 28 03310 Handle Machine Torch - !
1 PF101  Torch Head - Hand 1 PC131 Contact Nozzle Cap - Long Life 1 29 PH148 6m Cable Assy M14x1 Metric !
06201 LT-141 Torch Head 1 14 C1007 ___ Spring Holder Protection Nut 1 PH150 12m Cable Assy M14x1 Metric !
2 PF102  Torch Head - Machine Torch 1 15 C1008  Spacer Springs for C1007 5 30 PH149  6m Cable Assy 1/4" Bsp for
3 EA131 'O'Ring - Torch Head 10 16 CV23 Spacer for Contact Cutting 1 Central Connector 1
4 C1378 Diffuser 117 QV39 Large Spacer for Contact Cutting 1 PH151  12m Cable Assy 1/4" Bsp for
5 (1018 Extended Diffuser 1 18 (V8 Spacer ¢/w Nut for Central Connector 1
6 PR101 Electrode Hafnium 5 Contact Cutting - Max 50A 131 FY23  Central Connector Kit ¢/w 4 Pins 1
7 PR116T Extended Electrode - Threaded 5 19 QW9 Spacer ¢/w Nut for Contact Cutting 1 32 SPO1  Wrench for Electrode 1
8 PET01  Swirl Ring 120 CV11 Stand Off Spring 5 33 GR60  Extractor for Swirl Ring 1

W WILKINSON STAR



